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Instructions : 1) All questions are compulsory.

2) Each question carries 2 marks.
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stray mark on the OMR Answer Sheet.

5) Follow the instructions given on OMR Sheet.

6) Rough work shall be done on the sheet provided at the end of
question paper.

7)  Only non-programmable calculators are allowed.

1) The process of selecting units from a population to estimate characteristics

of the population is called _______.

A) Inference B) Analysis

C) Research D) Sampling

bmoH$g§» òÀ`m d¡{eîQ>çm§Mm A§XmO bdÊ`mgmR>r AgUmè`m bmoH$g§» òÀ`m ̀ w{ZQ>Mr {ZdS> H$aÊ`mÀ`m à{H«$ òbm
........... åhUVmV.
A) AZw_mZ ~) {díbofU
H$) g§emoYZ S>) Z_wZm {ZdS>

2) What is the name of conceptual framework in which the research is carried

out?

A) Research hypothesis B) Research design

C) Synopsis of research D) Research Paradigm

Á`m d¡Mm[aH$ Mm¡H$Q>rV g§emoYZ Ho$bo OmVo Ë`mMo Zmd H$m`?
A) g§emoYZ J¥{hVH$ ~) g§emoYZ {S>PmB©Z
H$) g§emoYZ gmam§e S>) g§emoYZ Z_wZm
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3) In order to pursue a research, which of the following is priority required?

A) Developing a research design

B) Formulating a research question

C) Deciding about the data analysis

D) Formulating a research hypothesis

g§emoYZmMm Aä`mg H$aÊ`mgmR>r Imbrbn¡H$s H$moUË`m Jmoï>rMr AmYr Amdí`H$Vm AgVo?

A) g§emoYZ {S>PmBZ {dH${gV H$aUo

~) g§emoYZ àíZ V`ma H$aUo

H$) _m{hVr {díbofU H¥$Vr R>a{dUo

S>) g§emoYZ J¥{hVH$ ~Z{dUo

4) Which of the following is not the method of research?

A) Survey B) Observation

C) Historical D) Philosophical

nwT>rbn¡H$s H$moUVr g§emoYZ nÕV Zmhr?

A) gd}jU ~) {Z[ajU

H$) Eo{Vhm{gH$ S>) VmpËdH$

5) Interpretation of data should be made by due consideration of _______.

A) Theoritical framework B) Empirical evidences

C) Hypothesis D) All the above

.......... Mm {dMma H$éZ _m{hVrMo ñnï>rH$aU H$amdo.

A) {gÕm§VmMr Mm¡H$Q> ~) àm`mo{JH$ nwamdo

H$) J¥{hVH$ S>) darb gd©
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6) The primary objective of _______ is to provide insights into; and an
understanding of the problem confronting the researcher.

A) Exploratory research B) Conclusive research

C) Casual research D) Descriptive research

g§emoYH$mbm ̂ oS>gmdV Agboë`m g_ñ ò~X²Xb A§VÑ©ï>r Am{U g_OyZ KoUo ho .......... Mo àmW{_H$ CX²Xrï>
Amho.

A) AÝdofUmË_H$ g§emoYZ ~) {ZU{`H$ g§emoYZ

H$) àmg§{JH$ g§emoYZ S>) dU©ZmË_H$ g§emoYZ

7) A systematic arrangement of ideals, tasks in a particular order is called
________.

A) Collection B) Research design

C) Research plan D) None of the above

{d{eï> H«$_mZo g§emoYZ H$ënZm, H$m }̀ `m§Mr nÕVera _m§S>Ur `m§g .......... Ago åhUVmV.

A) g§J«h ~) g§emoYZ aMZm

H$) g§emoYZ `moOZm S>) darbn¡H$s H$moUVohr Zmhr

8) ________ research is conducted to solve long term problems.

A) Applied B) Experimental

C) Survey D) Basic

{XK© H$mbrZ àíZ gmR>r ............ g§emoYZ Ho$bo OmVo.

A) Cn`mo{OV ~) àm`mo{JH$

H$) gd}jU S>) _wb ŷV

9) A primary data can be collected using _________.

A) Mailed questionnaire B) Telephonic talk

C) Direct personal interview D) Above all

........... dmnéZ àmW{_H$ _m{hVr Jmoim Ho$br OmD$ eH$Vo.

A) _ob Ho$bobr àíZmdbr ~) Q>obr\$moZX²dmao g§̂ mfU

H$) àË`j d¡̀ {º$H$ _wbmIV S>) darb gd©
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10) Qualitative research _________.

A) Is essentially the same as quantitative research

B) Generally employs rigorous mathematical analysis

C) Is subjective in nature

D) Is objective in nature

JwUmË_H$ g§emoYZ ...........

A) _ybV: n[a_mUmË_H$ g§emoYZmgmaIoM AgVo

~) gmYmaUnUo H$R>moa J{UVr` {díbofU dmnaVmV

H$) ì`{º${Zð> ñdénmMo AgVo

S>) dñVw{Zð> ñdénmMo AgVo

11) Which of the following is not probability sampling plan?

A) Systematic sampling B) Cluster sampling

C) Convenience sampling D) Stratified sampling

Imbrbn¡H$s H$moUVr g§̂ mì`Vm Z_wZm `moOZm Zmhr?

A) nÕVera Z_wZm {ZdS> ~) ŠbñQ>a Z_wZm {ZdS>

H$) gmoMrñH$a Z_wZm {ZdS> S>) ñVarH¥$V Z_wZm {ZdS>

12) Which of the following gives the measure of consistency of data?

A) Mean B) Standard deviation

C) Mode D) Median

Imbrbn¡H$s H$moUVo _m{hVrMo gmVË`m _moOVo?

A) _Ü` ~) à_mU {dMbZ

H$) ~hþbH$ S>) _Ü`_m

13) What is the major attribute of correlation Analysis?

A) Association among variables B) Difference among variables

C) Regression among variables D) Variations among variables

ghg§~§Y {díbofUmMm _w»` JwUY_© H$moUVm Amho?

A) Mbm§_Yrb g§~§Y ~) Mbm§_Yrb \$aH$

H$) Mbm§_Yrb à{VJ_Z S>) Mbm§_Yrb {^ÞVm
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14) What is the name of the conceptual framework in which the research is
carried out?

A) Research hypothesis B) Synopsis of research

C) Research paradigm D) Research design

Á`m g§H$ënZmË_H$ Mm¡H$Q>rV g§emoYZ Ho$bo OmVo Ë`mMo Zm§d H$m` Amho?

A) g§emoYZ J¥hrVH$ ~) g§emoYZmMm gmam§e

H$) g§emoYZmMm Z_wZm S>) g§emoYZ {S>PmB©Z

15) Tippit table refers to as ______.

A) Table of random digits

B) The table used in sampling methods

C) The table used in statistical investigations

D) All the above

{Q>{nQ> Q>o~b ............. åhUyZ g§X{ ©̂V H$aVo.

A) `mÑpÀN>H$ A§H$mMr gmaUr

~) Z_wZm nÕVt_Ü ò dmnabobr gmaUr

H$) gm§p»`H$s` VnmgUr_Ü ò dmnabobr gmaUr

S>) darb gd©

16) The format of thesis writing is same as in ____.

A) Writing of seminar representation

B) Preparation of research paper/article

C) A research dissertation

D) Presenting a workshop/conference paper

à~§Y boIZmMo ñdê$n ............. gmaIoM AgVo.

A) go{_ZmaMo à{V{ZYrËd boIZ

~) emoY{Z~§Y / boI V`ma H$aUo

H$) g§emoYZ à~§Y

S>) H$m ©̀emim / H$m°Ý\$aÝg nona gmXa H$aUo
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17) Which one of the following statement is true in the context of the testing of
hypotheses?

A) It is only the alternative hypotheses that can be tested

B) It is only the null hypotheses that can be tested

C) Both the alternative and null hypotheses can be tested

D) Both the alternative and null hypotheses can not be tested

J¥hrVH$m§À`m MmMUrÀ`m g§X^m©V Imbrbn¡H$s H$moUVo {dYmZ Iao Amho?

A) Ho$di n`m©̀ r J¥hrVHo$M Vnmgbr OmD$ eH$VmV

~) eyÝ` J¥hrVHo$M Vnmgbr OmD$ eH$VmV

H$) n`m©̀ r d eyÝ` J¥hrVHo$ XmoÝhr Vnmgë`m OmD$ eH$VmV

S>) n`m©̀ r d eyÝ` J¥hrVHo$ XmoÝhr Vnmgë`m OmD$ eH$V ZmhrV

18) Which of the following options are the main tasks of research in modern
society?

A) To learn new things

B) To keep pace with the advancement in knowledge

C) To systematically examine and critically analyse the investigations/
courses with the objective

D) All the above

AmYw{ZH$ g_mOmV Imbrbn¡H$s H$moUVo n`m©̀  g§emoYZmMo _w»` H$m ©̀ AmhoV?

A) Z{dZ Jmoï>r {eH$Ê`mgmR>r

~) kmZmÀ`m àJVrer ~amo~ar gmYUo

H$) CÔrîQ>m§gh Vnmgm§Mo / ómoVm§Mo nÕVeranUo n[ajU d J§̂ ranUo {díbofU H$aUo

S>) darb gd©

19) Which one of the following is called non - probability sampling?

A) quota sampling B) cluster sampling

C) systematic sampling D) stratified random sampling

g§̂ mì`Vm Zgbobm Z_wZm Imbrbn¡H$s H$embm åhUVmV?

A) R>am{dH$ {hñgm Z_wZm {ZdS> ~) ŠbñQ>a Z_wZm {ZdS>

H$) nÕVera Z_wZm {ZdS> S>) ñVam§H¥$V `mÑpÀN>H$ Z_wZm {ZdS>
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20) Action research can be understood as __________.

A) A Longitudinal research

B) An applied research

C) A kind of research being carried out to solve a specific problem

D) All the above

H¥$Vr g§emoYZ .............. åhUyZ g_Obo OmVo.

A) aoIm§e g§emoYZ

~) Cn`mo{OV g§emoYZ

H$) {d{eï> g_ñ òMo {ZamH$aU H$aÊ`mgmR>r Ho$bobo g§emoYZ

S>) darb gd©

21) Sociogram technique is used to study _________.

A) Achievement motivation B) Vocational interest

C) Human relations D) Professional competence

gmo{eAmoJ«m_ V§ÌmMm dmna .............. Mm Aä`mg H$aÊ`mgmR>r Ho$bm OmVmo.

A) gmÜ` àoaUm ~) ì`mdgm{`H$ ì`mO

H$) _mZdr g§~§Y S>) ì`mdgm{`H$ j_Vm

22) In the process of conducting research, ‘Formulation of Hypothesis’ is followed
by ________.

A) Analysis of data B) Statement of objectives

C) Collection of data D) Selection of research tools

g§emoYZ H$aÊ`mÀ`m à{H«$ ò_Ü ò "VÏ` g§H$bZmÀ`m _m§S>Ur' Z§Va .............. AgVo.

A) _m{hVrMo {díbofU ~) CX²Xrï>m§Mo {dYmZ

H$) _m{hVr g§H$bZ S>) g§emoYZ gmYZm§Mr {ZdS>
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23) Sample design involves __________.

A) Showing the universe of the study B) Showing the sample size

C) Demonstrate sampling methods D) All the above

Z_wZm {S>PmB©Z_Ü ò ................ Mm g_mdoe hmoVmo.

A) Aä`mgmMo {díd Xe©{dUo ~) Z_wZm AmH$ma Xe©{dUo

H$) Z_wÊ`mÀ`m nÕVr Xe©{dUo S>) darb gd©

24) A separate page that lists the texts used directly and indirectly for research
work is called _________.

A) Interview B) Census

C) Observation D) Mailded questionnaire

.................. V§ÌmÀ`m ghmæ`mZo g§H${bV Ho$bobr _m{hVr Xþæ`_ ómoVmg g_m{dï> hmoVo.

A) _wbmIV ~) OZJUZm

H$) {Z[ajU S>) àíZmdbr nmR>{dUo

25) SPSS is used for __________.

A) Presentation of facts B) Addition of facts

C) Data analysis D) Solving facts

Eg. nr. Eg. Eg. ho ............... gmR>r dmnabo OmVo.

A) VÏ`mMo gmXarH$aU ~) VÏ`mV ^a KmbUo

H$) VÏ` {díbofU S>) VÏ` gmoS>{dUo

26) In Kalamkari, ________ dyes are used.

A) Indigo B) Reactive

C) Acid D) Basic

H$b_H$mar_Ü ò ............... a§J dmnaVmV.

A) B§{S>Jmo ~) à{V{H«$`merb

H$) Amåb S>) AñH$
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27) The process of converting fibres into fabric is _________.

A) Spinning B) Wearing

C) Knitting D) Felting

V§VyMo WoQ> dóm_Ü ò énm§Va H$aÊ`mMr à{H«$`m åhUOo ..............

A) H$VmB© ~) {dUUo

H$) {ZQ>tJ S>) \o$pëQ>¨J

28) Dacron is the trade name of which fibre?

A) Spandex B) Nylon

C) Polyester D) Acrylic

S>oH«$moZ ho H$moUË`m V§VyMo ì`mnmar Zmd Amho?

A) ñn°ÝS>oŠg ~) Zm`bm°Z

H$) nm°{bñQ>a S>) A°{H«${bH$

29) Block printing first originate in __________.

A) Egypt B) China

C) Indonesia D) Asia

ãb°H$ {àqQ>JMm àW_ CJ_ .................. òWo Pmbm.

A) B{Oá ~) MrZ

H$) B§S>moZo{e`m S>) Am{e`m

30) Disposable masks are made by ___________.

A) Paper B) Jute

C) Polypropylene D) None of these

{S>ñnmogo~b _mñH$ ................ Ûmao ~Z{dbo OmVmV.

A) H$mJX ~) Á ẁQ>

H$) nm°{bàmo{nbrZ S>) darbn¡H$s H$moUVoM Zmhr
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31) Which philosopher Bare the idea that education should be based on the
principles of Human Development?

A) Dewey B) Russeau

C) Watson D) Thorndike

{ejU ho _mZd {dH$mgmÀ`m VËdmda AmYm[aV Agm`bm hdo hr H$ënZm H$moUË`m VËdkmZrZo {Xbr?

A) S>rdr ~) égmo

H$) doQ>gZ S>) WmoZ©S>rHo$

32) The empty nest is the characteristic of __________.

A) Young adulthood B) Middle adulthood

C) Adolescence D) Old age

[aH$m_o KaQ>o hr .............. Mo d¡{eï>ç Amho.

A) nyd© àm¡T>mdñWm ~) _Ü` àm¡T>mdñWm

H$) {H$emoamdñWm S>) d¥ÕmdñWm

33) Various stages in career counseling were put up by __________.

A) Donald super B) Devis

C) Williams D) Binnet

ì`mdgm{`H$ g_wnXoeZm_Ü ò A§V ŷ©V Agbobo {d{dY Q>ßno ho ................ `m§Zr gm§{JVbo Amho.

A) S>moZmëS> gwna ~) S>opìhg

H$) {dpë`åg S>) {~Zo

34) Disability in reading is called ___________.

A) Hemophilia B) Aphasia

C) Dysgraphia D) Dyslexia

dmMZmV Aj_Vm ̀ mg ................. åhUVmV.

A) {h_mo{\${Z`m ~) A\$m{g`m

H$) {S>ñJ«m{\$`m S>) {S>ñbopŠg`m
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35) Level of Intelligent Quotient of educable mentally challenged child is
________.

A) 0 - 25 B) 25 - 50

C) 50 - 75 D) 75 - 100

gw{e{jV _{V_§X _wbmÀ`m ~wÕr_ÎmoMm JwUm§H$ ............... hm Amho.

A) 0 - 25 ~) 25 - 50

H$) 50 - 75 S>) 75 - 100

36) Organisation chart is also known as ____________.

A) Flow chart B) Flip chart

C) Tree chart D) Striptease chart

g§KQ>Z VŠVm bm ................. åhUyZhr AmoiIVmV.

A) âbmo MmQ>© ~) pâbn MmQ>©

H$) Q́>r MmQ>© S>) pñQ́>nQ>rO MmQ>©

37) Colostrum is rich in proteins and _________.

A) Carbohydrates B) Minerals

C) Antibodies D) Vitamins

H$mobmoñQ́>_ _Ü ò à{WZo d ................. ^anya à_mUmV AgVmV.

A) H$~m}XHo$ ~) I{ZOo

H$) à{VÐì ò S>) OrdZgËdo

38) HDL is synthesized and secreted from ________.

A) Kidneys B) Pancreas

C) Liver D) Muscles

HDL ho ............. nmgyZ V`ma hmoVo d ódVo.

A) _yÌqnS> ~) ñdmXþqnS>

H$) `H¥$V S>) ñZm ỳ
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39) Clear fluid diet should not be continued for more than ________ hours.

A) 60 to 72 B) 48 to 60

C) 24 to 48 D) 12 to 24

{ZVi Ðd Amhma ................ Vmgm§nojm OmñV H$mi XoD$ Z ò.

A) 60 Vo 72 ~) 48 Vo 60

H$) 24 Vo 48 S>) 12 Vo 24

40) AGMARK was established in _________.

A) 1937 B) 1949

C) 1950 D) 1990

EJ_mH©$ hm ............... _Ü ò ñWmnZ H$aÊ`mV Ambm.

A) 1937 ~) 1949

H$) 1950 S>) 1990

41) Most bacteria grow best at pH near ________.

A) Acidic B) Alkaline

C) Neutral D) None of these

~hþVoH$ OrdmUw ............. Odirb nr EM da Mm§Jbo dmT>VmV.

A) Amåbr` ~) AëH$br`

H$) CXmgrZ S>) `mn¡H$s Zmhr

42) The study of interaction between people and machines is called _________.

A) Engineering B) Ergonomics

C) Ecology D) Automation

bmoH$ Am{U §̀Ìm_Yrb nañna g§dmXmÀ`m Aä`mgmbm ................ åhUVmV.

A) A{^`m§{ÌH$s ~) AJm}Zm°{_Šg

H$) n`m©daUemó S>) Am°Q>mo_oeZ
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43) The highest line in Japanes flower arrangement is called ________.

A) Heaven B) Human

C) Earth D) Mountains

OnmZr nwînaMZoV gdm©V C§M aofobm .............. åhUVmV.

A) ñdJ© ~) _mZd

H$) n¥Ïdr S>) nd©V

44) Arranging objects of equal weight at equal distances from one of the structure
means ________ balance.

A) Informal B) Formal

C) Spherical D) Harmony

H|$Ðq~Xÿ nmgyZ g_mZ A§Vamda g_mZ dOZmÀ`m dñVy§Mr _m§S>Ur H$aUo åhUOo ............... g§VwbZ hmò .

A) Ag_mZ ~) g_mZ

H$) JmobmH$ma S>) g§JVr

45) Releasing pent up an energy is __________.

A) Body control B) Emotional catharsis

C) Mental balance D) Emotional security

^md{ZH$ D$Om© ~mhoa nS>Uo åhUOo .................

A) earamda {Z §̀ÌU ~) ^md{ZH$ H°$Wma{gg

H$) _mZ{gH$ g§VwbZ S>) ^md{ZH$ gwajm

46) The homogenisation of milk is done

A) to destroy pathogen B) to disperse fat molecules

C) to enhance nutritive quality D) to help making cheese

................ gmR>r XþYmMo EH${OZgrH$aU Ho$bo OmVo.

A) amoJH$maH$ Zï> H$aUo ~) pñZ½YmMo aoUy ngadUo

H$) nm¡ï>rH$ XOm© dmT>{dUo S>) MrO ~ZdÊ`mgmR>r _XV H$aUo



M/P ENT– 19

-14-

47) Puppet show was established in the state of __________.

A) Orissa B) Gujarat

C) Rajasthan D) Maharashtra

"H$igwÌr ~mhþë`m§Mm Ioi' hr nÕVr .............. amÁ`mV ApñVËdmV Ambr.

A) Amoargm ~) JwOamV

H$) amOñWmZ S>) _hmamḯ>

48) The height & ironing board should be approximately ___________ cm.

A) 45 - 60 B) 50 - 55

C) 70 - 75 D) 78 - 90

Bór H$aÊ`mÀ`m ~moS>©Mr C§Mr gmYmaUnUo .............. g|_r Agmdr.

A) 45 - 60 ~) 50 - 55

H$) 70 - 75 S>) 78 - 90

49) Which chemical is used to inhibit mould growth in bread?

A) benzoic acid B) nitrates

C) lactic acid D) sorbic acid

~«oS>_Ü ò ~waerMr dmT> amoIÊ`mgmR>r H$moUË`m agm`ZmMm dmna Ho$bm OmVmo?

A) ~|PmoBH$ A°{gS> ~) Zm`Q́>oQ>

H$) b°pŠQ>H$ A°{gS> S>) gm°{~©H$ A°{gS>

50) _________ fabric requires more yarn per cloth cover and ravels at the end.

A) Textile composite B) Knitted

C) Knit-sew D) Tufted correct

............... H$mnS>mbm à{V H$nS>çmMo H$ìha Am{U eodQ>r H$mngmMo A{YH$ YmJo Amdí`H$ AgVmV.

A) H$mnS> g§{_l ~) {ZQ>oS>

H$) {dUH$m_ d {edbobo S>) JwpÀN>V XþéñV


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Rough Work
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Rough Work


